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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
JEK R
= 1 112, 063, 860
ER LT
= 1 13, 014, 100
HRi L (1CT)
= 1 7, 550, 400
I (ICT) W -7 sy FEFEMEL 10, 000m
3L 150, 000m3 AT
m3 12, 000 283 3, 396, 000
b S T Cadl- ERiRY L&)
(S NIEHR)
m3 12, 000 346. 2 4, 154, 400
AR+ T (ICT)
= 1 2, 484, 000
FEAA (ZE88) B 1 (ICT)
m3 10, 800 230 2, 484, 000
R FEIE T (CT)
= 1 2,979, 700
EiEFETE () 1350) (ICT) VIR = D R OV - kG -
m2 2,000 819.1 1, 638, 200
LT (& 1358) (ICT) LHEREE DA D
m2 1, 000 822.2 822, 200
LT (& 1=358) (ICT) A [ D M6 L
m2 1, 000 519.3 519, 300
HE o BT
= 1 9, 770, 679
[5G 1L
= 1 9, 770, 679
R A AL O BEEE 8. 863m Hk T (3F)
155kg/m3
(1)
m3 149 5, 688 847,512
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H TE (B ESM)
R A AL RIS TEE 6. 484m kT (
»35) 155kg/m3
(2)
m3 1,557 5,731 8,923, 167
eI TN
= 1 7, 356, 000
WA T
= 1 7, 356, 000
f A=y b WAy b T 1000m28) |
m2 3, 000 2, 452 7, 356, 000
-7 )R (BR) 1
= 1 6, 728, 343
E¥LT
= 1 135, 100
RIE +H
= 1 61, 980
MR L +wh
= 1 73,120
VR VARSY RN EVZA R VAR DY Z 5=
= 1 6, 593, 243
BUGFT FtfE 2 ) ) -} 18-8-25(20) =% JEME 52 c m
& 30cm
(1)
m 18 7,924 142, 632
BUGFT FetfE 2 ) ) -} 18-8-25(20) =% JEHE 55 c m
& 35cm
(2)
m 55 9, 801 539, 055
BT/ O 1kay) ) -} 18-8-25(20) &M
m3 2 66, 527 133, 054
/)Y = (%) 77 ny ) FE $235cm
(1)
m2 34 24, 058 817,972
/)= (%) 77 ny )/ FE $235cm
(2)
m2 165 24, 778 4, 088, 370
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
R3A - BEARY (Pef) FEf RC-40
m3 65 7,199 467, 935
BUGHT Kb )y -} 18-8-25(20) fEifA
m3 7 57, 509 402, 563
H HiAR IR ZE VA (30f537) t=20
m2 0.4 4, 156 1,662
Bkt 1
= 1 19, 139, 714
N AT DN =h T
= 1 17, 555, 754
PCR 3R (NCFRY) ¢ 1500
m 54 321, 843 17, 379, 522
ElEEgEre RC-40
m3 56 3, 147 176, 232
HEKT
= 1 1, 583, 960
/NEEHEK kfav )= JIS A 5372 300B
300 X 300 X 600
m 92 9,610 884, 120
HEY 2} 18-8-25(20) &¥F 2/7)-MERHE
Y fue
m2 120 5, 832 699, 840
BRE T
= 1 7, 368, 600
T B T
= 1 7, 368, 600
TR (A A
m2 30, 000 133.2 3,996, 000
TE K PRE (EA) N RAA R
m2 30, 000 72.34 2,170, 200
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
SRELAL Gy
m2 60, 000 20. 04 1, 202, 400
NSV UEL N
= 1 45, 872, 912
JRBSLERERE T
= 1 45, 872, 912
IYSY(E=S
= 1 45, 872, 912
Gan
= 1 2,813,512
THHER T
= 1 335, 124
TGS
m2 580 577.8 335, 124
RiBEE T
= 1 2,478, 388
AW B
= 1 2,478, 388
B TR
= 1 112, 063, 860
B SElTE:
= 1 17, 125, 908
IR
= 1 5,975, 720
TR
= 1 3,527, 248
TR B oy MR ST A
= 1 3,527, 248
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THERS - A - FRR] - 405 P - BRI B & A CHAMm &  H T (A E M)
Heh g sty
® 1 1, 395, 399
PR5FE B (ICT)
2 1 110, 704
VAT (ICT)
® 1 1,043,963
ERERLH
2 1 180, 882
A w b H R B
*® 1 59, 850
BsRsidER (K5t )
® 1 1,053,073
B E R L)
® 1 11, 150, 188
Wi EE
=« 1 129, 189, 768
B P
® 1 38, 481, 813
TG
=« 1 167, 671, 581
— R P
® 1 26,518, 419
TEEfliAS
=« 1 194, 190, 000
T BIAE 4 %A
® 1 19, 419, 000
TH#&G
=« 1 213, 609, 000
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